TH7F2RAER? REER

BRE BAEFBEERIEREHLE

B & % % & B H BE®E
MAYBYH A (EIR) fAE Mt XEBE 0157 b= 1%
C A< (250g) fREHMmEXEEE 0157 = %
oV VR —H1> (1) 500g BEHMERBEE 0157 b2 %
FaaFvI(BR fREHMmMEXREZE 0157 b=
F3aL—ro—L frE Mt KEEE 0157 b= %
DEZAITHL(AYE) REHMEXERE 0157 = %
EBTHF—X (YD) fE M REEE 0157 = %
LY ZAIZeL fREHMEXEBE 0157 = %
DYDME(ER e MM REZE 0157 = %
IN3—(FH15)450g fREHMmMEXEZEE 0157 b=
WiEdhbh g M KIZE 0157 = %
WadHoh FLiryr)-1g) fAEHmEXBE 0157 = &
Wiadhoh (A EXK) fAE Mt XBE 0157 b= 1%
SYNF(LEDE) fAEHmEXBE 0157 = &
SYMFH (DY) e M KIZE 0157 = %
SYMFEZRT1vo0 M) fAEHmEXBE 0157 = &
SYMIF (HYARE) fREHMmMEXREZEE 0157 b= %
TAR—XRARLY T frEHmEXBE 0157 b= 1%
TIR—XREAFLYI T GRER) fREHMmMEXREZEE 0157 b= %
HMNAD v Ls fAE Mt XBE 0157 = %
A—=F oy F(12g) fAE Mt XBE 0157 (S
3—%' )L~ (100ml) frEHmEXEBE 0157 b= 1%




TH7F2RAER? REER

BRE BAEFBEERIEREHLE

B & % % & B H BE®E
3—J LM (T7473—)80g fAE Mt XEBE 0157 b= 1%
—HAxX fREHMmMEXREZE 0157 b=
|50 fFE LMt REZE 0157 b= %
ZAYICAITRL fREHMmEXERE 0157 = %
RIAITRL(BYR) frE Mt KEEE 0157 b= %
AFL D) fREHMmMEXEZEE 0157 b=
FEHZDY fE LM REEE 0157 = %
NEADMAE(T9(EiR fREHMmMEXEZEE 0157 b=
BMEIFS fE M REEE 0157 = %
BEH<H fREHMmMEXBZEE 0157 b=
AT (BR frEHMmEXEBE 0157 = %
FHEFN(ER fAEHmEXBE 0157 = &
RKEZEIL (5% frEHMmEXEBE 0157 = %
BEHE(ER) fAEHmEXBE 0157 = &
23 frEHMmEXEBE 0157 = %
HA&% (Fim fAEHmEXBE 0157 = &
H&E (F(ER fREHMmMEXREZEE 0157 b= %
8= (/MR 5g) fAE Mt XBE 0157 = %
MARF—X g M KIZE 0157 = %
FX fAE Mt XBE 0157 = %
BX fREHmMEXREZEE 0157 b= %
BRATDY fAE Mt XBE 0157 = %
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BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AEE)— (JL—7)60e (iR EHMmEXEBE 0157 b= %
AEIIV—YE)— (EEHMA)50g frE M RIZE 0157 = %
ABIZIL—ytE)—(BEYAI)50g fAE Mt XEBE 0157 = %
AEVDL (BAE- #4140 fREHMmMEXREZE 0157 = 1
ARVNHLIALRSS (40g) EHMEXEBE 0157 b= %
REVAT—(HoUE) fREHMmMEXBZEE 0157 b=
ARVAF—(Avh) fE M REEE 0157 = %
AEITHIT (Fvh) fREHmMEXBZEE 0157 b=
MREIEA e MM REZE 0157 = %
BELTLLY(TL—) g I KIZE 0157 = %
ARERMNNDSI5T — B (40g) frEHMmEXEBE 0157 = %
mEXa—Y fAEHmEXBE 0157 = &
AEI——% frEHMmEXEBE 0157 = %
BAERIDFEVNEETL fAEHmEXBE 0157 = &
MREEND frEHMmEXEBE 0157 = %
ARSI (HIE)(30g) fAEHmEXBE 0157 = &
AESE (H1E)(40g) fREHMmMEXREZEE 0157 b= %
ARSI (HIE)(50g) fAE Mt XBE 0157 = %
AESE(HIE-AY) fREHMmMEXREZEE 0157 = 1%
AERSIE - A fAE Mt XBE 0157 = %
mRSHL (H1E)(30g) g MM KIZE 0157 = %
ARSHL (H1)(40g) fAE Mt XBE 0157 = %
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BRE BAEFBEERIEREHLE

B R % B & EH BE®E
MESHL (H1R)(50g) fAE Mt XEBE 0157 b= 1%
AELLeE (15g) g MM KIZE 0157 = %
AE 21— A (18g) rEHMmEXEBE 0157 b= %
AR T—RAZ=FY fREHMmEXERE 0157 b=
WRTLVBEE EHMEXEBE 0157 b= %
ART-FETHE(20g) fREHMmMEXBZEE 0157 b=
AR5 (HiE- A1) frEHMmEXREBE 0157 = %
BEF XN 1N—7 (60g) g I KIZE 0157 = %
ARFXUR—IL frEHMmEXEBE 0157 = %
MEBYHALSC fREHMmMEXEZEE 0157 b=
MEESLAILEDL frEHMmEXEBE 0157 = %
AEREADD (ELA40E) fAEHmEXBE 0157 = &
AEA—IY (hybh) e M KIZE 0157 = %
ARIFSES fAEHmEXBE 0157 = &
AERILRINL (BUR) e M KIZE 0157 = %
MEIZVAF—(8g) fAEHmEXBE 0157 = &
BRI FHY (50g) g M KIZE 0157 = %
MELCERE fAE Mt XBE 0157 = %
MEDNEET)vE— g M KIZE 0157 = %
RN fAE Mt XBE 0157 = %
AREMDIGT fREHmMEXREZEE 0157 b= %
ARER(KDE-5ghvh) fAE Mt XBE 0157 = %
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BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AEBA(EDOE-8ghvh) BEHMERBEE 0157 (=3
MRBA(RDE-1H-8ghvh) fREHMmMEXREZE 0157 b=
MEBRA(EDE-13-10ghvh) rEHMmEXEBE 0157 b= %
MRBA(RDE-3H-15gAYM) g M KIZE 0157 = %
AERBA(REL-H5-1A) BEHMERBEE 0157 (=3
AEEBIT(E2) fREHMmMEXBZEE 0157 b=
AREBTFEDAST fE M REEE 0157 = %
AEEBIT (D) BESGIT fREHmMEXBZEE 0157 b=
MREETFEIEEXRR) e MM REZE 0157 = %
R e (H18)(30g) fREHMmMEXEZEE 0157 b=
mREE(HIE-AY) frEHMmEXEBE 0157 = %
MEREE(BEXR) fAEHmEXBE 0157 = &
R BERK frEHMmEXEBE 0157 = %
AR A ($341)(30g) fAEHmEXBE 0157 = &
AR TR R (B3M1)(40g) frEHMmEXEBE 0157 = %
MEREEAL fAEHmEXBE 0157 = &
AAERF g M KIZE 0157 = %
AERER BEHMERBEE 0157 2
MRERE g M KIZE 0157 = %
MEEE (Fe) frEtmAEXBE 0157 b= 1%
MREEE(K) g MM KIZE 0157 = %
BEEE /N N—5 (60g) frEHMmEXEBE 0157 b= 14
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BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
HEBFEALE BEHMERBEE 0157 (=3
AEBER(33)3mm3 x 3cm g MM KIZE 0157 = %
ARBEA(A—X)3mm 3% 3 fAE Mt XEBE 0157 b= 1%
ARBEALY (21 x3cm) fREHMmMEXREZE 0157 b=
AEBEAELE (ERA) BEHMERBEE 0157 (=3
MEBEYXLT fREHMmMEXBZEE 0157 b=
MRBHATF1(40g) fE M REEE 0157 = %
MEBHRTT51(50g) fREHmMEXBZEE 0157 b=
ARBAH AR S5(30g) e MM REZE 0157 = %




